L k1 6 FEEsSHhR-SRiAFmEAI= ]

B B 5A 88~ 9H
B B ERAR-vEVF—
(B F> CEEFELCTY
I I
a 3 b
9g 3
= J e
A 5
A 2 B A1 B 1
% 4 n = T £ + = £ &
= & £ = Hi £ 2 X =5 5
= * B & [ ] = ] = % 7
¥ & B B E 3 E E S B & B
B -3 &=
B B B
I A 4 | A 3
—aEE Ty — a2 TY
|
a 4 EFIST | aEELk | aF%ES
an S L b 1 b 4
a 2 b 2 BEEEX b 1 B 4
8\ £EERS| b 4 B 4
A 6 B &
%= %= H x - 7
-3 = [ 2 % h
& s o 4 = 5
= J o > X 4
& p 7 &
s 2
: 7
] 1
________ -
9A . a 1 :
8H 2 AERK-—VEVS—

3 B & | ~ Hh—F Ficl_ RS | B—F T PEr
10:00~11:35 A1 EERATHINAESKVS EXabk Bl BEZTaEXIEBEVS EFZak
11:35~13:10] A? EEBEFSRSKFEEVS HNE=E A1K B2 SEBT £F&Kk VS TFTIEx |B1H
13:10~14:45| A3 [g&T A 188 VS B 18 [AZH B3
14:45~16:20] A4 KRBT A 288 VS B 281 A3E B4 [T meWA VS H5ERSA3EH
16:20~17:55 A5 mERT #=mk VS A ZF [AdG] BS GBTF B 3B VS £5EE IB48
17:556~19:30] A6 —RPEF =¥SJ VSH-oops/AbR B6 BETINZZF VS FeWwk [BHA

0 & ERAK-—vEVI—

B ] 24 A—F H2eovH G I A—F Iy |
9:30~11:05 al B=EF A 68 VS B 68 b1 [ REFEFIST VS Zawk
11:05~12:40] a2 [ BMBTESHRAS VS A 6B a1§ b2 FMEF B 6B VS 7HT>
12 40~14:15] a3 [mikBFH A 58 VS B 5 a8l b3 |akkkF A 18 VS B 18 (b2
14 :15~15:50] a4 | #BF a 278 VS b 2 a3f) b4 [ MEFTHaEHs VS XFs-7b3
15:50~ G




